12400 Earl Jones Way
Louisville, KY 40299

rev-a-shelf.com
Customer Service: 800-626-1126

oY oOhDE

@O REV-ASHELF

INSTALLATION INSTRUCTIONS

SIDE MOUNT UTENSIL PULLOUT

TOOLS REQUIRED:

PARTS LIST

Z
O

Description

AWDUT Frame 1

Slides

Side Mount Brackets

Slide Triggers
Slide Back Brackets
#6 x 1/2 Pan Head Screws

CARE AND MAINTENANCE:

T || |m]J]O|lO |wm|>

Clean with a damp cloth and wipe

parts dry #8-32 Flat Head Screws

0 | | N INEN

#8 Lock Nuts

l #8 x 5/8" Truss Head Screws

—
o

J Wire Basket 1

WATCH TUTORIALS OF OUR K 1.25 Qt Stainless Steel Bins 2 or 3*

PRODUCTS BEING INSTALLED L 2.5 Qt. Stainless Steel Bins 1 or 2%

* Dependent on unit purchased

INSTALLATION INSTRUCTIONS: SIDE MOUNT UTENSIL PULL OUT

[-4WDUT-0822



| TOP OF DRAWER / |

ALIGN WITH MARKS MADE IN STEP 2

I IF FACE FRAME CABINET |
I ALONG DOTTED LINE I

IF FRAMELESS CABINET
I ALIGN FRONT OF TEMPLATE TO I
FRONT OF CABINET WALL

LEFT SIDE WALL
TIVM 3dIS LHOM

SIDE MOUNT UTENSIL PULL OUT

12400 Earl Jones Way

ke Louisville, KY 40299
rev-a-shelf.com
. . Customer Service: 800-626-1126
FCDOY ®hRhM

T-4WDUT-0822



